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o700 0000000000 O ) import java.util.*. public
class HowEasy { public static void main(String[] args) { HowEasy p
= new HowEasy(). String[] s ={"This is a problem
statement”,"523hi."," no9 . wor7ds he8re. hj.."}.
System.out.printin(p.pointVal(s[1])). } public int pointVal(String
str) { String[] buffer = new String[50]. StringTokenizer wordFactory
= new StringTokenizer(str). int length = 0. int i =0. int . int wCount
= 0. int wordLength = 0. char ch. int averageLen.



while(wordFactory.hasMoreTokens()) { buffer[i] =
wordFactory.nextToken(""). 1. } length = 1.
for(i=0.ilt.buffer[i].length(). J) { ch = buffer[i].charAt()).
if((buffer[i].length()amp.amp.gt.=0 amp. averageLen gt.=6) return
100.elsereturn 0. }}O 00O OO OO O00 000 00O O
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